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NUMERICAL APTITUDE – IV 

 

       Any expression of the form ma (read as ‘a’ to the power of ‘m’) is called an index in 
which ‘a’ is known as the base of the index and ‘m’ the power of index. 

       Also aaaaa m ×××= ………… m times 

       For e.g. 333334 ×××= = 81 
       To solve the problems based on indices one should know the laws of indices. 

LAWS OF INDICES:       

(i)   )( nmnm aaa +=×  

(ii)  ........)(........... +++=××× pnmpnm aaaa   

(iii) )( nmnm aaa −=÷  

(iv) mnnm aa =)(     

(v)  mmm baab ×=)(  

(vi) 
m

mm

b

a

b

a =⎟
⎠

⎞
⎜
⎝

⎛
    

(vii) 
m

m

a
a

1=−  

NOTE: 0a = 1 
 
Directions (Q. 1-15): What will come in place of the question mark (?) in 
the following questions? 

1.    3437497 ?22 ×=×  
       1) 4                       2) 3                       3) 6                      4) 2                      5) None of these  
       ANSWER: 2  

       422222 77)7(49 === ×  

       343 = 37  

       4222 77497 ×=×  

       
3?? 773437 ×=×   

        3?42 7777 ×=×  

        3?42 77 ++ =  
       As bases are same, powers should be equal    
        6 = ? + 3 
        ? = 6 – 3 = 3  
 

2.    ?32 )5(125)25()5( =××  

       1) 9                       2) 7                       3) 8                      4) 11                    5) None of these  
       ANSWER: 4  

       632323 55)5()25( === ×  

       125 = 35  

       1136236232 55555125)25()5( ==××=×× ++  

        ? = 11 
 

3.    ?1512 64464 =÷  
       1) 9                       2) 3                       3) 12                    4) 7                      5) None of these  
       ANSWER: 4  
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       5535315 64)4(44 === ×  

       75125121512 64646464464 ==÷=÷ −   
        ? = 7 
 

4.    ?35 )5(625)25(5 =÷×  

       1) 6                       2) 9                       3) 8                      4) 5                      5) None of these  
       ANSWER: 5  

       632323 55)5()25( === ×  

        625 = 45  

       746546535 55555625)25(5 ==÷×=÷× −+  

        ? = 7 
 

5.    ( )[ ] ?
462 9)3( =  

       1) 28                     2) 16                     3) 12                    4) 24                    5) None of these  
       ANSWER: 4  

       ( )[ ] [ ] 244646
462 9)9()9()3( === ×  

        ?24 99 =  
         ? = 24 
 

6.    7?333 )2()128()6.140()40.080( +=××÷×  

       1) 25                     2) 11                     3) 12                    4) 18                    5) None of these  
       ANSWER: 2  

       ( ) 15353533 222)32()40.080( ====× ×  

       ( ) 18363633 222)64()6.140( ====× ×  

       ( ) 2137373 222)128( === ×    

       211815333 222)128()6.140()40.080( ×÷=××÷× = 18211815 22 =+−  

       7?18 22 +=  
        18 = ? + 7 
        ? = 18 – 7 = 11 
 

7.    ?6.42.79.8 5125255 =÷×  
       1) 10.5                  2) 9.5                   3) 7.6                   4) 8.7                   5) None of these  
       ANSWER:   

       4.142.722.722.7 55)5(25 === ×     

       8.136.436.436.4 55)5(125 === ×   

       8.134.149.86.42.79.8 555125255 ÷×=÷×  

                                      = 5.96.09.88.134.149.8 555 == +−+  
        ? = 9.5 
 

8.    ?1.88.124.9 166448 =××  
       1) 41.8                  2) 16.2                  3) 18.4                 4) 25.6                 5) None of 
these  
       ANSWER: 4  

       ( ) 2.284.934.934.9 2)2(28 === ×   
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       ( ) 6.258.1228.1228.12 2)2(24 === ×   

       ( ) 6.481.861.8 2264 ==  

       6.486.252.281.88.124.9 2226448 ××=××  

                                   = ( ) 6.256.2546.2544.1026.486.252.28 162222 ==== ×++  

        ?6.25 1616 =     ? = 25.6 
 

9.    If ( )[ ] mmm
1

2
33

2

÷ = 81, the value of m is  

       1) – 3                    2) – 6                    3) 3                      4) 6                      5) None of 
these  
       ANSWER: 4  

       mmm 222 33)3( == ×  

       [ ] [ ] mmmmmm 222 222

333)3(3 −=÷=÷   

       ( )[ ] ( ) 2
)2(21

2
1

2
333333

2

22 −/
−/−

− ====÷ mm

mm

m

mm
mmmmmm  

       42 3813 ==−m  
        m – 2 = 4 
        m = 4 + 2 = 6 
 

10.  ?32 6216)49()32( =÷×××   

       1) 5                       2) 4                       3) 6                      4) 2                      5) None of these  
       ANSWER:   

       22 6)32( =×  

       6323233 66)6(36)49( ====× ×  

       216 = 56  

       356256232 66666216)49()32( ==÷×=÷××× −+  

        ? = 3 
 

11.  ?245 )2.0()008.0()2.0()04.0( =÷×   

       1) 5                       2) 6                       3) 7                      4) 8                      5) None of these  
       ANSWER: 4  

       1052525 )2.0()2.0()2.0()04.0( === ×  

       623232 )2.0()2.0()2.0()008.0( === ×  

       ?6410 )2.0()2.0()2.0()2.0( =÷×  

        ?6410 )2.0()2.0( =−+  

        ?8 )2.0()2.0( =  

        ? = 8 
 

12.  24?23 )4()2(32)16()8( ÷=×÷ −   

       1) 12                     2) 18                     3) 14                    4) 10                    5) None of these  
       ANSWER: 3  

       933333 22)2()8( === ×   

       824242 22)2()16( === ×  

       32 = 52  
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       422222 22)2()4( === ×          

       4?223 )2()4(32)16()8( −=××÷  

        4?4589 )2(22)2()2( −=××÷  

        4?4589 )2()2( −++− =  

         4?10 )2()2( −=  

       10 = ? – 4   
       ? = 10 + 4 = 14 
 

13.  ?44

3

)15(1515225)15( =÷××   

       1) 
2

1
                      2) 

2

3
                      3) 2                     4) 

2

5
                     5) 3  

       ANSWER: 2  

       15225 = ;   ;)15(15 4

1
4 =      

       2

3

2

1
2

2

1

4

1
1

4

3

2

1

4

1
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)15()15()15()15()15(15)15( ===÷××
−−++

 

         ? = 
2

3
 

 

14.  ?
)28(

1
)21952()28(

1
826 =÷× −

−   

       1) 2)28( −                  2) 1)28( −                  3) 28                   4) 2)28(                 5) 0)28(        

ANSWER: 3  

       24)8(3838 2828)28()21952( −−×−− ===  

       )1(2426
1

826 )28()28()28(
)28(

1
)21952()28( −−−

−
− ÷×=÷×  

                                                   = 28)28( 12426 =−−     

                                                    

15.  ?127 )18()324()5832()18( =÷× −−   

       1) 5                       2) 4                       3) 3                      4) 2                      5) 1  
       ANSWER: 3  

       6)2(3232 )18()18()18()5832( −−×−− ===    

       2)1(2121 18)18()18()324( −−×−− ===  

       ?267 )18()18()18()18( =÷× −−   

       ?)2(67 )18()18( =−−−  

       ?3 )18()18( =  

        ? = 3 
 

16.  ?115 )4(1024)256()64()4( =÷÷× −−   

       1) – 2                    2) – 1                    3) 1                     4) 2                     5) – 7  
       ANSWER: 3  

       3)1(3131 )4()4()4()64( −−×−− ===  

       4141 )4()4()256( −−− ==  

       54)1024( =  
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       ?5435 )4(4)4()4()4( =÷÷× −−  

       ?15435 )4()4()4( ==−+−  

         ? = 1 
 


